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Ejercicio 1 

𝑒2 = 0,015 𝑚 ; 𝑀0𝑒 = 9,6 𝑘𝑁𝑚 

𝐴𝑠,𝑛𝑒𝑐 = 5,52 𝑐𝑚2 

 

 

Ejercicio 2 

Dimensiona la inestabilidad según la mayor inercia 

𝑒2 = 0,0429 𝑚 ; 𝑀0𝑒 = 161,28 𝑘𝑁𝑚 

𝐴𝑠,𝑛𝑒𝑐 = 27,80 𝑐𝑚2 

 

Ejercicio 3 

𝑒2 = 0,0959 𝑚 ; 𝑀0𝑒 = 307,2 𝑘𝑁𝑚 

𝐴𝑠,𝑛𝑒𝑐 = 82,89 𝑐𝑚2 
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Ejercicio 4 

𝑒2 = 0,08 𝑚 ; 𝑒𝑡𝑜𝑡 = 0,276 𝑚 

𝑃𝑢 = 1080 𝑘𝑁 

Ejercicio 5 

𝑒𝑡𝑜𝑡 ≤ 0,145 𝑚 𝑦 𝑒𝑒 = 0,07 𝑚 ; 𝑒𝑛𝑡𝑜𝑛𝑐𝑒𝑠 𝑒2 ≤ 0,075 𝑚 

𝐿𝑚𝑎𝑥 = 7,68𝑚 

 

Ejercicio 6 

Dimensiona la inestabilidad según la menor inercia. 

𝑁𝑢 = 1800 𝑘𝑁 

 

Ejercicio 7 

𝑒𝑒 = 0,0343 𝑚 , 𝑒𝑎 = 0,029 𝑚  𝑒𝑒 + 𝑒2 = 0,062 𝑚. 𝑒02 = 0,08𝑚 

𝐴𝑠,𝑛𝑒𝑐 = 11,38𝑚 

 

 

 


